[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005

0
2

Ratio

=

A I I I I A S L AR LR LR LRLRE RN

_
hengess
-
B
5

1072 10 1 10 0?
TP vertr (cr%)

M_CRF_TTbar
M_mkFit_TTbar

DU
D& _
— DQM_mkFit_TTbarPU-ncp
Efficiend = DM mkFit TTbarPU-newTrd

~ 0.05
9.045
2]
0.04
o)
9,035
o
£0.03
(]
0.025
0.02
0.015
0.01
0.005

TTTT

Eo—

—— ———
: H S

"'—o‘-¢:_ .

E—

N ST
| R

Ratio

930 =20 10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05
>
00.045
IS
7 0.04
$.035
z
c0.03
[}
8.025
(0]
0.02
0.015
0.01

0.005
q I

Ratio

0.5

T
a3

1520
Sim. PV z (cm)



	Contents
	Page 1


